
 

Jonathan had 15 geckos and then 4 more 

hatched. How many did he have altogether?  

 

 

 

There were 18 kangaroos jumping along the in the 

outback and 11 more joined them. How many were 

there altogether?  

 

 

There were 22 clown fish and 27 angelfish swimming 

through the coral. How many were there altogether?  

Later on in the day 14 parrotfish joined them. How 

many were there altogether then?  

 

 

There was a pack of 39 dingoes and another pack 

came and joined them. The second pack had 21 

dingoes. How many dingoes were there altogether? 

43 dingoes then joined them too. How many were 

there after the third pack joined?  

 

17 koalas were asleep in a tree and 19 more joined them. 

How many were asleep in the tree?  

20 koalas woke up and went to find some yummy leaves. How 

many were left in the tree?  


